
Quest ce que le cadeau  F' - ? ( )Quel nombre se trouve dans chaque cadeau?
4 ÷ 2 = 72 ÷ 12 = 20 ÷ 2 =84 ÷ 7 = 72 ÷ 8 = 72 ÷ 6 =10 ÷ 5 = 12 ÷ 4 = 54 ÷ 9 =90 ÷ 10 = 121 ÷ 11 = 100 ÷ 10 =24 ÷ 6 = 48 ÷ 6 = 110 ÷ 10 =40 ÷ = 4 30 ÷ = 6 30 ÷ = 518 ÷ = 2 33 ÷ = 3 80 ÷ = 812 ÷ = 4 55 ÷ = 5 35 ÷ = 528 ÷ = 4 32 ÷ = 4 72 ÷ = 960 ÷ = 12 70 ÷ = 7 88 ÷ = 8÷ 8 = 8 ÷ 5 = 9 ÷ 9 = 7÷ 10 = 2 ÷ 10 = 3 ÷ 4 = 4÷ 9 = 11 ÷ 10 = 4 ÷ 9 = 3÷ 7 = 2 ÷ 2 = 6 ÷ 8 = 2÷ 7 = 8 ÷ 4 = 5 ÷ 8 = 12
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Quest ce que le cadeau  F  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
4 ÷ 2 = 2 72 ÷ 12 = 6 20 ÷ 2 = 1084 ÷ 7 = 12 72 ÷ 8 = 9 72 ÷ 6 = 1210 ÷ 5 = 2 12 ÷ 4 = 3 54 ÷ 9 = 690 ÷ 10 = 9 121 ÷ 11 = 11 100 ÷ 10 = 1024 ÷ 6 = 4 48 ÷ 6 = 8 110 ÷ 10 = 1140 ÷ 10 = 4 30 ÷ 5 = 6 30 ÷ 6 = 518 ÷ 9 = 2 33 ÷ 11 = 3 80 ÷ 10 = 812 ÷ 3 = 4 55 ÷ 11 = 5 35 ÷ 7 = 528 ÷ 7 = 4 32 ÷ 8 = 4 72 ÷ 8 = 960 ÷ 5 = 12 70 ÷ 10 = 7 88 ÷ 11 = 864 ÷ 8 = 8 45 ÷ 5 = 9 63 ÷ 9 = 720 ÷ 10 = 2 30 ÷ 10 = 3 16 ÷ 4 = 499 ÷ 9 = 11 40 ÷ 10 = 4 27 ÷ 9 = 314 ÷ 7 = 2 12 ÷ 2 = 6 16 ÷ 8 = 256 ÷ 7 = 8 20 ÷ 4 = 5 96 ÷ 8 = 12
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